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Solving with Parenthesis Name:
Solve each of the problems. Answers
1) (54-19)+5=
1.
2) (36+12)+8= 2
3) 2x6)x8= 3.
4.
4) (4+9)x5=
5.
5 (30+3)-1= 6
6) (70+10)x7 = 7.
8.
7) 3x10)+7=
e}
8 (3-1)+1=
) (3-1) L.
9) 6+1)+1= 11.
12.
10) (27+3)+19=
13.
11) (3+6)-9=
) (3+6) 14,
12) 8x7)+2= 15.
13) (14-6)-1=
14) (6-4)x9=
15) (3% 9)-20=
1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
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1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Solving with Parenthesis Name Answer Key
Solve each of the problems. Answers

(54-19)~5= 7 (35)=5

1 /
(36+12)+8=_ 6  (48)+8 2 6
(2x6)x8= 96 (12)x8 3. 96

4, 65
(4+9)x5=__ 65 (13)x5

5. 9
(30+3)-1= 9 (10)-1 . 49
(70+10)x7=__ 49  (7)x7 7. 37

8. 3
(3x10)+7= 37 (30)+7

9. 8
B-1)+1= 3 @2+1 10. 28
G6+1+1= 8 (M+1 11. 0

12 28
(27+3)+19= 28 (9)+19

13 7
(3+6)-9= 0 (9)-9 " 18
(8x7)+2= 28 (56)=2 15, I
(14-6)-1= 7 8-1
(6-4x9= 18 (2)x9
(3x9)-20= 7 (27)-20

1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www CommonCoreshestscom L 11-15{27]20]13| 7] O
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Solving with Parenthesis Name:
Solve each of the problems. Answers
1) (5%x5)+3=
1.
2) (10x8)x6= 5
3) (21-13)+4= 3,
4.
4) (2+43)+5=
5.
5) (10+10) x 8= ]
6) 4-1)+5= 7.
8.
7) (70+7)+14=
e}
8) (16-3)-4=
) ( ) L.
9 (6+4)-10= 11.
12.
10) (6+6)+6=
13.
11) (15-12)x9 =
14.
12) (20+2)x2= 15,
13) (5% 7)-31=
14) (9x3)+7=
15) (70+7)-7=
1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www.CommonCoreSheets.com 2 11-15(27|20|13| 7 | O
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1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Solving with Parenthesis Name Answer Key
Solve each of the problems. Answers

(5x5+3= 8rl (25 +3

1. 8rl
(10x8)x6= 480 (80)x6 ” 480
(21-13)+4=__ 2  (8)+4 3 2

a. 9
(2+43)+5= 9 (45) +5

5, 160
(10+10)x8= 160 (20)x8 . 3
(4-1)+5=__ 8 (3)+5 7. 24

8. 9
(70+7)+14= 24 (10)+14

0. 0
(16-3)-4= 9 (13)-4 o 18
6+4)-10= 0  (10)-10 1, 27

12 20
(6+6)+6= 18 (12)+6

13 4
(15-12)x9= 27 (3)x9 " 24
(20+2)x2= 20 (10)x2 15. 3
G5x7)-31=__ 4 (35-31
Ox3)+7= 34 (27)+7
(70+7)-7= 3 (20) -7

1-10 | 93| 87]80| 73] 67| 60]53]47]40] 33|
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Solving with Parenthesis Name:
Solve each of the problems. Answers
1) (22-4)+6=
1.
2) (5x2)+4= )
3) (0+9)-8= 3
4.
4 1+1=+2=
5.
5) (8-7)+9= ]
6) (100+ 10) +20 = £
8.
7) (70+7)x7=
e}
8) (17-3)-10=
) ( ) L.
9 (3+10)x5= 11.
12.
10) (7+9)-11=
13.
11) (5x4)-11=
14.
12) (7x4)+10= 15.
13) (8+10)+6=
14) (4x10) x4 =
15) (18-8) x4 =
1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www.CommonCoreSheets.com 3 11-15|27(20|13| 7 | O
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Solving with Parenthesis

Name:

Answer Key

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

(22-4+6=__ 3 (18)+6
(5x2)+4=_2r2 (10)+4
(90+9)-8=__ 2 (10)-8
Q+)=2=__ 1 (2)=2
@8-7+9=__10 (1)+9

(100+10)+20=__ 30 (10)+20
(70+7)x7=__ 70  (10)x7
(17-3)-10= 4 (14)-10
(3+10)x5=__ 65 (13)x5
(7+9-11= 5  (16)-11
Gx4)-11=__ 9 (20)-11
(7x4)+10= 38 (28)+10
8+10)+6=__ 24 (18)+6
(4x10)x4=__ 160 (40)x 4
(18-8)x4=__ 40 (10)x4

10.

11

12.

13.

14.

15.

Answers

3

2r2

10

30

70

65

38

24

160

40

Math
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Solving with Parenthesis Name:
Solve each of the problems. Answers
1) (14-12)+3=
1.
2) (13-9)-3= 2
3) (16+8)x2= 3
4.
4) (120-20)+10=
5.
5 (2+3)-4= 5
6) 9x4)+7= 7.
8.
7) 83x5)-12=
9.
8) (16+4)+13=
) ( ) L.
9 B+1)=+1= 11.
12.
10) (30+3)-4=
13.
11) (7x7)x3=
14.
12) (6+6)+4= 15.
13) (7x5)+6=
14) (2-1)x6=
15) 83+1)x2=
1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www.CommonCoreSheets.com 4 11-15|27(20|13| 7 | O
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Solving with Parenthesis Name Answer Key
Solve each of the problems. Answers
1) (14-12)+3= 5 (2)+3
1 S
2) (13-9-3=_ 1 (4-3 2 1
3) (16+8)x2= 4 (2)x2 8. 4
4 10
4) (120-20)+10= 10 (100)+ 10
5 1
5) 2+3)-4= 1 (5-4 6 43
6) Ox4)+7= 43 (36)+7 7 3
8 17
7) (3x5)-12= 3 (15 -12
9 6
8) (16+4)+13= 17 (4)+13 o 6
9 G+1)=+1= 6 (B)+1 11. 147
12 16
10) (30+3)-4= 6 (10) - 4
13. 5r5
11) (7x7)x3= 147 (49)x3 6
— 14,
12) 6+6)+4=_ 16 (12)+4 15. 8
13) (7x5)+6= 515 (35)+6
14) 2-1)x6= 6 (1)x6
15) 83+1)x2= 8 (4) x 2
1-10 [93[87[80[73[67]60]53]47[40] 33
Math www.CommonCoreSheets.com 4 11-15(27|20|13| 7 | O LT
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1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Solving with Parenthesis Name:
Solve each of the problems. Answers

(43+11)+ 6 =

1.
(32+4)+19 = 2
(67-4)+9= 3.

4.
(72+9)-2=

5.
(25-7)-10 = .
(12+4) x4 = 7.

8.
(11-10) x5 =

9.
(8x4)-6= 10.
(6x8)x7= 11.

12.
(8-2)+5=

13.
3+3)x5=
3+3) 14,
(9x4)+14 = 15.
(7+3)+3=
(2x10)+3 =
(5+8)-1=

1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www.CommonCoreSheets.com 5 11-15(27|20|13| 7 | O
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Solving with Parenthesis

Name:

Answer Key

Solve each of the problems.

1) (43+11)+6=

2) (32+4)+19=

3) (67-4)+9=

4) (72+9)-2=

5) (25-7)-10=

6) (12+4)x4=

7) (11-10)x5=

8) (8x4)-6=

9) (6x8)x7=

10) (8-2)+5=

11) (3+3)x5=

12) (9x4)+14 =

13) (7+3)+3=

14) (2x10)+3=

15) (5+8)-1=

Math

9 (54+6
21 (9+19
7 (63+9
_ 6 (9-2
8 (18)-10
12 (34
_ 5 (x5
_ 2% (32)-6
336 (48 x7
__11_(6)+5
__30 (x5
50 (36)+14
_ 13 (10)+3
612 (20)+3
12 (13)-1

www.CommonCoreSheets.com 5

1-10
11-15

93

27

Answers

L 9

2. 27

3 7

4 6

5 8

6 12

7 5

8 26

9. 336

10, 11

1 30

12 o0

13, 13

14, 6r2

15. 12
87|80| 73| 67| 60]53|47|40]33]
20[13[ 70
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1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Solving with Parenthesis Name:
Solve each of the problems. Answers

(62-14)+6 =

1.
(10-7)+7= 2.
(25+5)+8 = 8.

4.
(12-3)x 10 =

5.
(15+5)-3= 6.
a+7)-5= 7.

8.
(19-2)-8=

e}
(9% 10) x 8 = L0,
(35+5)x1= 11.

12.
(10x6)+9=

13.
5+10)+8=
( ) 14.
(4x8)+12 = 15.
(6+1)x9=
(10+26) + 6 =
(8x5)-37=

1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www.CommonCoreSheets.com 6 11-15(27|20|13| 7 | O
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Solving with Parenthesis

Name:

Answer Key

Solve each of the problems.

1) (62-14)+6=

2) (10-7)+7=

3) (25+5)+8=

4) (12-3)x10=

5 (15+5)-3=

6) (1+7)-5:

7) (19-2)-8=

8) (9x10)x8=

9) (3B5+5)x1=

10) (10x6)+9=

11) (5+10)+8 =

12) (4% 8)+12 =

13) (6+1)x9=

14) (10+26)+~6=

15) (8x5)-37 =

Math

8 (49=6
_ 10 (3)+7
_ 13 (5)+8
%0 (9x10
_ 0 (3-3
_ 3 _®-5
9 (7-8
720 (90)x8
_ 7 (nx1
616 (60)+9
23 (15)+8
M (32)+12
__ 63 (7)x9
6 (36)+6
_ 3 (40)-37

10.

11

12.

13.

14.

15.

Answers

8

10

13

90

720

6r6

23

63

www.CommonCoreSheets.com
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1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Solving with Parenthesis Name:
Solve each of the problems. Answers
(80+10)+5=
1.
(10x6)+3 = ”
(12+6)x4= 3
4.
(11-1)-2=
5.
(2 + 3) X 8 = 6
(6+8)-13= 7.
8.
(21-15)+3=
e}
(9%x4)-36= Lo,
(72+8)-6= 11.
12.
(4+50)+6=
13.
4x6)+19 =
(4% 6) 14,
4+9)+3= 15.
(7 X 2) X 4 =
(14-3)x6=
(8-6)+4=
1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www.CommonCoreSheets.com 7 11-15(27|20|13| 7 | O
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Solving with Parenthesis

Name:

Answer Key

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

(80+10)+5= 13

(10x6)+3=__ 20

(12-6)x4= 8

(11-1)-2= 8

2+3)x8=__ 40

(8 +5

(60) + 3

(2 x4

(10) - 2

(5) %8

(14) - 13

(6) +3

(6+8)-13= 1
(21-15)+3= 2
(9%4)-36= 0
(72+8)-6= 3
(4+50)+6= 9
(4x6)+19= 43
(4+9+3= 16
(7x2)x4= 56

(14-3)x6=__ 66

(8-6)+4= 6

(36) - 36

(9) - 6

(54)+6

(24) + 19

(13) + 3

(14) x 4

(11) x6

2+4

10.

11

12.

13.

14.

15.

Answers

13

20

8

8

40

43

16

56

66

Math
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Solving with Parenthesis Name:
Solve each of the problems. Answers
1) (14-1)-10=
1.
2) BxH+7= ,
3 (24+6)-2= 3
4.
4) (1+9)-2=
5.
5) (10+2)+2= .
6) (8x5)+8= 7
8.
7) 4xT7)x4=
e}
8) (3x4)-8=
) (3x4) L.
9 (7-6)x3= 11.
12.
10) (2+16)+6=
13.
11) (8+2)x2=
) (8+2) 14.
12) (10+10) x10 = 15.
13) (19-1)+8=
14) (21-3)+3=
15) (9+5)+10=
1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www.CommonCoreSheets.com 8 11-15(27|20|13| 7 | O
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Solving with Parenthesis

Name:

Answer Key

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

(14-1)-10= 3
(5x4)+7=__ 27
(24+6)-2= 2
1+9)-2= 8

(10+2)+2= 7
(8x5)+8= 5

(AxT7)yx4= 112

(3x4)-8=__ 4
(7-6)x3=__ 3
2+16)+6=__ 3
(8+2)x2=_ 8

(10 + 10) x 10 =

(19-1)+8= 26

(13) - 10

(20) + 7

(4)-2

(10) - 2

5 +2

(40) + 8

(28) x 4

(12) - 8

(1) %3

(18) ~ 6

(4) x 2

200  (20) x 10

(18) + 8

(18) + 3

(14) + 10

10.

11

12.

13.

14.

15.

Answers

3

27

200

26

24

(21-3)+3= 6
(9+5)+10= 24
Math

www.CommonCoreSheets.com 8
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Solving with Parenthesis Name:
Solve each of the problems. Answers
1) 6+3)x7=
1.
2) (5-2)x9= )
3 (12-1)+9= 3
4.
4) (2x3)+3=
5.
5) (12+3)-1= .
6) (10+3)+8= 7
8.
7) 2x9) x6=
9.
8 (72+8)+18 =
) ( ) L.
9 (bx6)+14= 11.
12.
10) (10x2)-14 =
13.
11) (24+39)+7 =
14.
12) (4+8)-12= 15.
13) (8+4)x2=
14) (17-3)-6=
15) (45-18)+ 9=
1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www.CommonCoreSheets.com 9 11-15(27|20|13| 7 | O
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1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Solving with Parenthesis Name Answer Key
Solve each of the problems. Answers

(6+3)x7= 63 (9)x7

1 63
5-2)x9= 27 (3)x9 5 27
(12-1)+9= 20 (11)+9 3. 20

a. 2
(2x3)+3= 2 (6)+3

5. 3
(12+3)-1=__ 3 (4-1 . 21
(10+3)+8= 21 (13)+8 £ 108

8. 27
(2x9x6= 108 (18)x6

0. 44
(72+8)+18= 27 (9)+18 o 6
(5x6)+14= 44 (30)+14 11 9

12 0
(10x2)-14= 6 (20)-14

13 4
(24+39)+7= 9 (63)+7 3

— 14.
4+8)-12= 0 (12)-12 15, 3
B8+4)x2= 4 (2) x 2
(17-3)-6= 8 (14)-6
(45-18)+9= 3 (27)+9
1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www.CommonCoreSheets.com 9 11-15{27]20]13| 7] O
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Solving with Parenthesis Name:
Solve each of the problems. Answers
1) @7-7)+4=
1.
2) 9+3)+2= 2
3) 3x6)+4= 3.
4.
4) (20-10)+3=
5.
5 (10-4)x9= 5
6) (6 + 5) x5 = 7.
8.
7) (56+8)-2=
e}
8) (9x2)-9=
) (9%x2) L.
9 (8x4)x5= 11.
12.
10) (9+2)-9=
13.
11) (16-8)-3 =
) ) 14.
12) (90+10)+6 = 15.
13) (4+14)+6=
14) (2x9)+3=
15) (64+8) x 2=
1-10 | 93| 87|80 73| 67| 60| 53] 47| 40| 33|
Math www.CommonCoreSheets.com 10 11-15(27|20|13| 7 | O
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Solving with Parenthesis

Name:

Answer Key

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

@7-7)+4=__ 10  (40)=4
9+3)+2=_ 14  (12)+2
(3x6)+4=_ 22 (18)+4
(20-10)+3=__ 13 (10)+3
(10-4)x9=__ 54 (6)x9
(6+5)x5=__ 55 (11)x5
(86+8)-2=__ 5 (7)-2
(9%x2)-9=__ 9 (18)-9
(8x4)x5=_ 160 (32)x5
9+2)-9= 2 (11)-9
(16-8)-3=__ 5 (8)-3
(0+10)+6=__ 15  (9)+6
4+14)+6=_ 3 (18)+6
(2x9)+3=__ 6 (189+3
64+8)x2=_ 16  (8)x2

10.

11

12.

13.

14.

15.

Answers

10

14

22

13

o4

55

16

Math 10
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